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INSTRUCCIONES PARA REALIZAR EL EXAMEN  
El examen consta de tres bloques de preguntas cuyo valor máximo es de 5, 3 y 2 puntos, respectivamente. Es obligatorio contestar las preguntas 
indicadas en cada bloque para llegar a la puntuación máxima del examen (10). 
En ningún caso se corregirá un número de respuestas mayor de lo indicado para cada bloque. Para la corrección se seguirá el orden en el que las 
contestaciones aparezcan desarrolladas por el estudiante. Solo si el estudiante ha tachado alguna de ellas, se entenderá que esa respuesta no debe 
ser corregida y se procederá a corregir la siguiente de su mismo bloque. 

PRIMER BLOQUE: COMPRENSIÓN LECTORA 
Este bloque contiene dos textos (“Reading comprehension: Text 1” y “Reading comprehension: Text 2”), cada uno de ellos seguido por dos grupos 
de preguntas de comprensión lectora. El alumno deberá escoger uno de los dos textos y contestar las preguntas del texto elegido de la siguiente 
manera: 
- Tres de las cuatro preguntas del primer ejercicio.                               - Cuatro de las cinco preguntas del segundo ejercicio. 
 

Reading comprehension: Text 1 

World’s Freshwater Ecosystems Contaminated with Salt Pollution 

 
Saltwater pollution of the world’s freshwater ecosystems is on the rise, and the current water quality regulations in North 

America and Europe aren’t strict enough to prevent it. An international study conducted by scientists from Europe and North 
America found that freshwater lakes are being significantly harmed by salt levels that are just below the levels considered safe 
by government regulators in Canada, Europe and the U.S. The study examined 16 sites in four countries and found that 
salinization of freshwater caused a significant loss of zooplankton — tiny aquatic microorganisms typically found near the 
water’s surface — and an increase in algae. 

“It’s clear that years of salt pollution in freshwater lakes threaten the biodiversity of freshwater ecosystems. This is a 
global problem that has the potential to impact ecosystems and human health,” said Rick Relyea, director of the Rensselaer 
Polytechnic Institute. For example, young fish feed on the zooplankton found near the surface of healthy freshwater 
ecosystems. Increases in the salinity of freshwater can interfere with water quality and disrupt the cycles of nutrients, as well 
as affect population numbers of fish species. Less than a teaspoon of salt can cause the salinity level of twenty litres of water 
to be unhealthy for numerous aquatic creatures. 

At nearly 50 percent of the sites studied, less zooplankton led to more phytoplankton, or algae. More algae can make 
the water dirty, which is much more than an aesthetic problem. It can prevent sunlight from making it through the surface of 
the water to the plants below. “More algae in the water could lead to a reduction in water clarity, which could affect organisms 
living on the bottom of lakes as well,” said Shelley Arnott, professor of aquatic ecology at Queen’s University. “The loss of 
zooplankton leading to more algae has the potential to alter lake ecosystems in ways that might change the services lakes 
provide, such as recreational opportunities, drinking water quality, and fisheries.” 

(Adapted from www.ecowatch.com) 
 
EXERCISE 1. Answer 3 of the following 4 questions, providing evidence from the text (maximum 1 point 

each, total 3 points): 
a. Does the text say that saltwater pollution is increasing?  
b. According to the text, is the following statement true or false?  

Saltwater is beneficial for zooplankton.   
c. Does the writer say that a lot of salt is necessary to pollute water?  
d. According to the text, can saltwater pollution affect leisure activities and sports on lakes? 
 

EXERCISE 2. Find in the text words to solve 4 of the following 5 questions. Use just one word in each case 
(maximum 0,5 points per word, total 2 points): 

a. A synonym for severe, inflexible. 
b. My grandfather died last year. It was a sad __________ for me.   
c. A synonym for very small, minuscule. 
d. Find a word for this definition: make something vulnerable or at risk.  
e. An antonym for surface, top. 

 

 



 

Reading comprehension: Text 2 

Spain Has the Highest Proportion of First-Time Mothers Over 40 in the EU 
 

Spain has become the country with the highest proportion of first-time mothers over 40 in the European Union. According to 
figures from the EU’s statistic agency Eurostat, based on 2017 data, 8.8% of women in the country were over 40 when they gave 
birth to their first child. In the previous 2015 study, Italian women had the greatest tendency to come to motherhood late. The 
phenomenon in Spain has been building over the past decade, with births from mothers aged 40 and over rising 63%, according to 
the National Statistics Institute (INE).  

Spanish youth are among the latest to leave home in the EU (average age is 29), while the average age for first-time mothers 
is 31. Figures show an average of 1.25 children per woman in 2018. A number of experts point out that more than half the women 
who are not mothers would have liked to have had children. However, a prolonged wait due to the lack of secure employment, 
unaffordable housing, and a lack of state subsidies, has worked against them. Other women simply prefer to be older mothers, a 
cultural shift based on the desire for greater economic and professional stability. Italy and Spain also lead the EU when it comes to 
giving birth at 50 and over – which contrasts sharply with the 92% of Europeans who have their first child between 20 and 39. 

“If couples leave it later and later to have children and women become mothers when they are more mature, many will end up 
not being able to have children. And this is what is happening in Spain,” says Diego Ramiro, a demographic expert at the Spanish 
National Research Council. “More than 20% of women born in the 1970s will not have children. We have not yet caught up with Japan 
where the figure is almost 30%, but there could be long-term consequences. For example, when people get old, they won’t have a 
family network to look after them and other care systems will have to be put in place.” 

Adapted from www.english.elpais.com. (2019) 
 

EXERCISE 1. Answer 3 of the following 4 questions, providing evidence from the text (maximum 1 point each): 
a. According to the text, has Spain always had the highest proportion of mothers over 40? 
b. Does the author say that young people in Spain live on their own at an early age? 
c. According to the text, is the following statement true or false? 

Economic factors play a big role in Spain’s tendency to come to motherhood late. 
d. According to the text, is the following statement true or false? 

Low birth numbers may have consequences for elderly people in the future. 
 

EXERCISE 2. Find in the text words to solve 4 of the following 5 questions. Use just one word in each gap (maximum 0,5 
points per word, total 2 points): 

a. A synonym for trend, propensity.  
b. Give a word for the following definition: a fact or situation that is observed to exist or happen. 
c. Find a word for this definition: young people considered as a group. 
d. A synonym for extended, continued.  
e. An antonym for inexpensive, economical.  

SEGUNDO BLOQUE: REDACCIÓN  
El segundo bloque consiste en una pregunta de redacción con tres opciones, de las cuales el alumno deberá escoger y realizar tan solo una. La 
redacción tendrá que contener cien palabras como mínimo. La puntuación máxima es de tres puntos. 

 
a. Write a story beginning with the following sentence: “Sarah did not expect to become a mother in her forties.” Remember 

that the 11 words in this sentence cannot be counted in the 100 words you must write. 
b. Imagine that you are a scientist who studies water ecosystems. Write an email to your local/regional government giving 

suggestions to help protect these ecosystems.  
c. Would you like to have children in the future? Why or why not? 

TERCER BLOQUE: TRANSFORMACIÓN GRAMATICAL 
El tercer bloque contiene seis ejercicios de transformación gramatical, de los cuales el alumno deberá escoger y contestar exclusivamente cuatro. 
Cada ejercicio contestado vale medio punto como máximo. La puntuación máxima del bloque en su conjunto es de dos puntos. 

a. Rewrite the following sentence in the interrogative form of the conditional perfect tense:  
Saltwater pollution is on the rise 

b. Rewrite the following relative clause as two separate sentences. Do not omit or replace any part of it.  
More algae in the water leads to a reduction in water clarity, which could affect organisms living in lakes. 

c. Complete the second sentence so that it means the same as the first one. You must not change the initial two words in 
any way or omit any element from the original sentence: 

Freshwater lakes are being significantly harmed by salt levels. 
Salt levels………………………………………… 

d. Rewrite the following sentence as a second-type (hypothetical) conditional: 
If couples leave it later and later to have children, many will end up not being able to have children. 

e. Rewrite the following sentence in indirect style (reported speech), beginning with the words: The Prime Minister warned… 
“Other care systems will have to be put in place.” 

f. Rewrite the following sentence in the passive voice. Do not omit any part of it. 
Salinization of freshwater caused a significant loss of zooplankton. 

 

http://www.english.elpais.com/

	Inglés_Julio22

